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3. Perfect squares

(Example 3 )

Given that 25x? + px + 16 is a perfect square and p > 0, find the value of p.

(a+b)1:az+2ﬂé+y‘ = 25 %" + px +16

a*= 2Sx* o 4= Sx
b = le 2 b=Y

+2al =1 =2Sax)4) | = H4ox
perfect square 2C8x?* +4Hox +/6 /
favhaiu (5 +4)XSx +Q) g
vo otk
P = ‘+o

{ Example 4 )

Divide (2x* — 11x + 6) by (2x* + 4x — 3). @

Dm 5 #
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7. Expand each of the following perfect squares.

Ca +6)L= A +0ab +bY () (x + 20

x4+ 4% +Yy

(i) (x - 3)?

x®—bx +9

(i) (x+5)2 = = +i0x +2¢

(iv) (a + b)? = a4 +¥2ab +L?
(V) (x—y) (vi) (a +2b)
- - ey +y~ =a*+Y%al +4Lr
(vii) (3x —y)? (viii) (x — Sy)?
= Q- éx; 1-?" = x"'—loxa -I-Z(Z*
(%) Qx+3° = 4ot b jzmg 98

10. If px? 4+ 4x + 1 is a perfect square for all values of x, find the value of p.

@+b)* | = a* + Jab +b?

= px* +lbxd |

2% = /ox‘ @

by obscevobion | Jab = “x ()

> 213 b=l @

Subo inko 3 ZJal() =4
9 i @ dJa = %x S a = 2 ®

Sub® Wb () (2x)* = pxt
bt = px* PP
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21. Simplify each of the following quotients:

.. 6x%y + 9xy? — 3xy . 6x* — 9x3 + 1242

(i) o (i) e
Nohee : 3o
s Common ? ZM&#M

For of eecly 37—7'
@Zw\ r.f
Nuher ko~

= Jax + 3;_ -3
bx’v = Sy (%)
o2 ?‘ = 337, (37)
‘3:»7_ = doy (-1)
25. Perform the following operations:
long  division (ifi) 30+ 202 = Tx +2 = (224 x — 2)
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